= _ BE TRH27EE £6RE B —BHEALL
5t th ¥ # 5 =R WATEAR : TER27410826H
. W 1T 15 AT . SELHNHEREEE
BERAA—RFEF _
x SR BEREES R
7 A B B
¥ R E RixiE #ME @R X B M B ORESBHE s AL EEE (Fiik)
= % s P
'S (ha) i (XK) (m3) o FH SHARS 1EE 2@
%%L%EEFE%E%E K¥ 1 EEMREEMMEERRBAE 5,380,000
1 BREEAERK 7HhF/EE B 5L 458 1 275 2508: 1,604.10: 364 H 4 2 IEATFESNERBEES 3,850,000
(PINEH. EHEYENRN) =RV N } )
3 fEEMRB R, hUBRIH T 3,220,000
LB FRFRLERATARE 2% | EEREEARMEEERES 5,030,000
2 | FHEEEMK 140N = 1h3 555  2.80 2,933 162988 364 A 3 2 IETFESRERZEMES 4,100,000
N\ 2= E\l _\|_
(7RE#. WEEZER) U 3 | EREHERS 3,600,000
T B TEGILEE A 2% 1 BEEME RS 2,530,000 3,150,000
3 SUEE#M 40n#/NEs | B 41558 | 2.94 2418 174509 3648 1
(PUNE ., ILAEHXMA) HITK
g, FHeY 1 [EhEMARESH 1,400,000
4 RRAWUEE#H 4B/ B sM1FE 776 6,231: 200693 3648 1
(MEH, EHELEXRA) H3TK




